AA B2 S4, <« ANH Z5I-ANH-B/ANH-BL

R xB | BREEHD BRME HE |SHMEESD
LAAO1 i H3ER N
- - - 1 i P
A0 At L8z — SEM izt
L ]
K1
T Y
D &
D @
" i D & i
%
s
78 G L
w
01 Ke L1
C
$ D TIT T
~— 9H b ki Y
——
o -cl Il Il
T il T
) mm mm,
'] ed E
E_| P
Mp My
[ [N
= = [e] [e]
E i @ — @
[ ] ‘ :‘
] o]
AEFE(mm) BRRS (mm SMR
-
= H H1 N W B B1 (63 L1 L K1 K2 G MxL T Hz2 | H3 |WR | Hr D h d P E
ANH15B 28 |43 | 95| 34 26 4 26 39.4 61.4 10 [4.85] 5.3 | M4x5 6 (7.95/7.7 |15 | 15 | 7.5|5.3 | 4.5| 60 | 20
ANH20B 36 50.5 77.5 | 12.25
ANH20BL 30 | 46 |12.0| 44 32 6 50 652 22 | 126 6 12 M5x6 8 6 6 | 20 |17.5] 9.5 |85 6 60 | 20
ANH25B 35 58 84 16.8
= —— M6x8 9
ANH25BL 40 | 55 [125| 48 | 35 [ 6.5 50 | 786 |1046] 196 6 12 X 8 | 10 23 |22 | 11 9 7 60 | 20
ANH30B 40 70 97.4 | 20.25
T — 12 | M8x10 | 85| 9.5|13.8| 28 | 26 | 14 | 12 9 80 | 20
ANH30BL 45 6 16 60 40 |10 60 93.0 |120.4| 21.75 6 *
ANH35B 50 80 112.4| 20.6
—————— M8x12 § 19.6
ANH35BL 55 |75 | 18 70 50 | 10 72 11058 | 138.2] 225 7 12 x 10.2| 16 34 | 29 | 14 | 12 9 80 | 20
ANH45B 60 97 139.2| 23
—_— 129 M10x17 | 1 18.5| 30.5| 4 2 17 14 |1 22.
ANH45BL 70 | 9.5 |20.5| 86 60 | 13 80 | 1288 | 1712] 28.9 10 9 6185 5 | 38 0 05 5
] _ o _ EURE )
e BONERERRYT | BEASMEAT | EABMENH e o o - i
(mm) C(KN) Co(KN) (kN-m) (kN-m) (KN-m) AiRkg | Bitkg/m
ANH15B M4x16 11.38 16.97 0.12 0.1 0.1 0.18 1.45
ANH20B M5x16 17.75 27.76 0.27 0.2 0.2 0.30 221
ANH20BL 21.18 35.9 0.35 0.35 0.35 0.39 i
ANH25B M6x20 26.48 36.49 0.42 0.33 0.33 0.51 321
ANH25BL 32.75 49.44 0.56 0.57 0.57 0.69 i
ANH30B 38.74 52.19 0.66 0.53 0.53 0.88
———+ M8x2. 4.47
ANH30BL S 47.27 69.16 0.88 0.92 0.92 1.16
ANH35B M8x25 49.52 69.16 1.16 0.81 0.81 1.45 6.3
ANH35BL 60.21 91.63 1.54 1.4 1.4 1.92 i
ANH45B M12x35 77.57 102.71 1.98 1.55 1.55 2.73 10.41
ANH45BL 94.54 136.46 2.63 2.68 2.68 3.61 i
Q www.vipdo.cn ©400-098-1117 \ESE=EE(# 2o a 't =4 R
N o] M52 Sy Y, B = 7
P51 LEERANB R , LXWEFRE , LRITESK !




AA B S 4, <« ANH Z5I-ANH-B/ANH-BL

AIRES SR R~ BRI FRE BE
ANH15B
ANH20B
ANH20BL 15
ANH25B 20
ANH25BL 25 B: WAE, 20: BIE C:EBER
:z:gg;— ANHZRZ gg BL: PUAHIKE; ZA: BFE H:E %
_ ANASOBL | 45 - EWE PAETLR
AR zB: EFE =
ANH35BL
ANH458
ANH45BL
=
iz
5 BRLS SiE i M <
ANH158
ANH20B .
ANH20BL 01
ANH25B
ANH25BL C:EBR 20 :BHE
txg; ANH30B 1-4000 H:ER ZA TIE
BTy EWE
AN P REER ZB EHE
ANH35BL
ANH45B
ANH45BL

= LAA01-ANH15B-L200-C-Z0 ey
& ®Em | BRES KEL | mx | WE ﬂEz

. LAAO1 ANH15B 200 N N
BRI c 20 R R R SRS AR

Q www.vipdo.cn @ 400-098-1117 \ENEEEE4 2Ll it w4 Ea)
LEENANERME  LXMEEFERE , LRITESN ! P52



